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CARBOXYLIC ACID AND THEIR DERIVATIVES

Topic I Objective Quastion

1. DIfferent possible thermal decomposition pathways for peroxyesters

are shown below. Match each pathway from peroxyesters are shown

below. Match each phthway from column t I with an appropriate structure

from Column II and select the correct answer using the code given below

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pS3b1WixXJsx


Jee Main And Advanced

the lists.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

P Q R S

1 3 4 2

P Q R S

2 4 3 1

P Q R S

4 1 2 3

P Q R S

3 2 1 4

https://dl.doubtnut.com/l/_pS3b1WixXJsx


1. In the reaction 

 


The product C is

A. acetaldehyed

B. acety lene

C. ethylene

D. acetly chloride

Answer: C

Watch Video Solution

CH3COOH
LiAlH4

−−−→ A
PCl4
−−→ B

Alc .KON
−−−−−→ C

2. The compound that does not liberate , on treatment with aqueous

sodium bicarbonate is

A. benzoic acid

B. benzenesulphonic acid

CO2

https://dl.doubtnut.com/l/_kTZhwZsvqU8W
https://dl.doubtnut.com/l/_Q0Of1fDPdP9D


C. salicylic acid

D. carbolic acid (Phenol)

Answer: D

Watch Video Solution

3. An orgainc compound A upon reacting with  gives  On heating 

 give  in presence  reacts with  to yield 

is .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3 B

B C. C KOH Br2 CH3CH2NH2A

CH3COOH

CH3CH2CH2COOH

CH3 − CH
∣

CH3

− COOH

CH3CH2COOH

https://dl.doubtnut.com/l/_Q0Of1fDPdP9D
https://dl.doubtnut.com/l/_d35rwPQ2XJAk


4. A compound with molecular mass  is acylated with  to

get a compound with molecule of the fomer compound is .

A. 2

B. 5

C. 4

D. 6

Answer: B

Watch Video Solution

180 CH3COCI

5. The compound that undergoes decarboxylation most readily under

mild condition is

A. 

https://dl.doubtnut.com/l/_d35rwPQ2XJAk
https://dl.doubtnut.com/l/_R6xly1zdgxXF
https://dl.doubtnut.com/l/_kB2dcDFkb1Lm


B. 

C. 

D. 

Answer: B

Watch Video Solution

6. The carboxyl functional group  is present in 

A. picric acid

B. barbituric acid

C. ascorbic acid

D. aspirin

( − COOH) :

https://dl.doubtnut.com/l/_kB2dcDFkb1Lm
https://dl.doubtnut.com/l/_0ne1H8Rh7Upe


Answer: D

Watch Video Solution

7. In the following reaction sequence, the correct structures of (E ), (F)

and (G) are: 

 


(*implies 13C-labelled carbon)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0ne1H8Rh7Upe
https://dl.doubtnut.com/l/_bZJiD437y5mJ


8. Which of the following reactants on reaction with conc. NaOH followed

by acidification gives following lactone as the main product ? 

A. 

B. 

https://dl.doubtnut.com/l/_bZJiD437y5mJ
https://dl.doubtnut.com/l/_hNAgHWNtbbEp


C. 

D. 

Answer: C

Watch Video Solution

9. When benzene sulphonic acid and P-nitrophenol are treated with

, the gases released, respectively, are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NaHCO3

SO2, NO2

SO2, NO

SO2, CO2

CO2, CO2

https://dl.doubtnut.com/l/_hNAgHWNtbbEp
https://dl.doubtnut.com/l/_p1VI2kroA8lK


Watch Video Solution

10. Benzamide on treatment with  gives :

A. aniline

B. benzonitrile

C. chlorobenzene

D. benzyl amine

Answer: B

Watch Video Solution

POCl3

11. An enantiomerically pure acid is treated with racemic mixture of an

alcohol having one chiral carbon. The ester formed will be :

A. optically active mixture

B. pure enantiomer

https://dl.doubtnut.com/l/_p1VI2kroA8lK
https://dl.doubtnut.com/l/_xl8YUEAy9rTa
https://dl.doubtnut.com/l/_PvZ6J2ZyiV5d


C. meso compound

D. racemic mixture

Answer: D

Watch Video Solution

12. Ethylester . The product P will be

A. 

B. 

C. 

D. 

Answer: A

CH3CH2MgBr

−−−−−−−−→
excess

P

https://dl.doubtnut.com/l/_PvZ6J2ZyiV5d
https://dl.doubtnut.com/l/_3tCRLUconuFE


Watch Video Solution

13. The product of acidic hydrolysis of  can be distinguished by 


A. Lucas reagent

B. 2,4-DNP

C. fehling's solution

D. 

Answer: A

Watch Video Solution

P and Q

NaHSO3

14. Benzoyl chloride is prepared from benzoic acid by :

A. Cl2, hv

https://dl.doubtnut.com/l/_3tCRLUconuFE
https://dl.doubtnut.com/l/_hsLqZmXt4gMD
https://dl.doubtnut.com/l/_Xz6ZVZ4ECSM9


B. 

C. 

D. 

Answer: A

Watch Video Solution

SO2Cl2

Sol2

Cl2, H2O

15. When propionic acid is treated with aqueous sodium bicarbonate,

 is liberated. The carbon of  comes from

A. methyl group

B. carboxylic acid group

C. methylene group

D. bicarbonate group

Answer: D

Watch Video Solution

CO2 CO2

https://dl.doubtnut.com/l/_Xz6ZVZ4ECSM9
https://dl.doubtnut.com/l/_cEs8ij1muqdz


16. Hydrogenation of benzoyl chloride in the presence of 

gives :

A. benzyl alcohol

B. benzaldehyde

C. benzoic acid

D. phenol

Answer: B

Watch Video Solution

Pd/BaSO4

17. Acetamide is treated separately with the following reagents. Which

one of these would give methyl amine ?

A. 

B. 

PCl5

NaOH + Br2

https://dl.doubtnut.com/l/_cEs8ij1muqdz
https://dl.doubtnut.com/l/_IRvlp1RxMMNl
https://dl.doubtnut.com/l/_xyWDiJNLvKtu


C. Sodalime

D. Hot conc. 

Answer: B

Watch Video Solution

H2SO4

18. Which of the following is basic ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2OH

H2O2

HOCH2CH2OH

CH3COOH

https://dl.doubtnut.com/l/_xyWDiJNLvKtu
https://dl.doubtnut.com/l/_EvCiOeNcqOON


19. With referenc eto the scheme given, which of the given statement (s)

about T,U,V and W is/are correct? 

A. T is soluble in hot aqueous NaOH

B. U is optically active

C. Molecular formula fo W is 

D. V gives effervescence on treatment with aqueous 

Answer: A::C::D

Watch Video Solution

C10H18O4

NaHCO3

https://dl.doubtnut.com/l/_JtZRxe4qqNaK


20. The reation of  with a mixture of  and aqueous 

gives  as the main product The intermediate (s) involved in this

reation is (are) .

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

RCONH2 Br2 KOH

RNH2

RCONHBr

RNHBr

R − N = C = O

ROCONBr2

21. p-Hydroxybenzoic acid has a lower boiling point than o-

hydroxybenzoic acid. 

o-Hydorxybenzoic acid has intramolecular hydrogen bonding.

https://dl.doubtnut.com/l/_HYIcmHT7Y1Um
https://dl.doubtnut.com/l/_bRU19j3i1nOX


A. Statement I is true, Statement II is true,Statement Iim is a correct

examplation of Statement I.

B. Statement I is true, Statement II is true, Statement II is not the

correct explanation of Statement I.

C. Statement I is true, Statement II jis false.

D. Statement I is false, Statement II is true.

Answer: D

Watch Video Solution

22. Acetic acid does not undergo haloform reaction. 

Acetic acid has no alpha-hydrogen.

A. Statement I is true, Statement II is true,Statement Iim is a correct

examplation of Statement I.

https://dl.doubtnut.com/l/_bRU19j3i1nOX
https://dl.doubtnut.com/l/_5bkE37SmLWSD


B. Statement I is true, Statement II is true, Statement II is not the

correct explanation of Statement I.

C. Statement I is true, Statement II jis false.

D. Statement I is false, Statement II is true.

Answer: C

Watch Video Solution

23. The reaction of compounf P with  (excess) in 

followed by addition of  give Q the compound Q on treatment with 

at  C gives R. the reaction of R with  in the presence

of anhydrous  in  followed by treatment with 

produces compound S. [Et in compound P is ethyl group] The product S is

CH3MgBr (C2H5)2O

H2O

H2SO4 0∘ CH3COCl

AlCl3 CH2Cl2 H2O

https://dl.doubtnut.com/l/_5bkE37SmLWSD
https://dl.doubtnut.com/l/_KBpFA1Uvyly4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

24. The reaction of compounf P with  (excess) in 

 followed by addition of  give Q the compound Q on

treatment with at  C gives R. the reaaction of R with 

in the presence of anhydrous  followed by treatment

with  produces compound S. [Et in compound P is ethyl group] The

CH3MgBr

(C2H5 _ (2)O H2O

H2SO4 0∘ CH3COCl

AlCl3inCH2Cl2

H2O

https://dl.doubtnut.com/l/_KBpFA1Uvyly4
https://dl.doubtnut.com/l/_xaW46vYzCDEV


product S is The product S is 

A. Aromatic sulfonation and friedel- Crafts acylation

B. Friedel-Crafts alkylation and Firedel-Crafts acylation

C. Friedel-Crafts alkylation, dehydration and Friedel-Crafts acylation

D. Dehydration and Friedel-Crafts acylation

Answer: C

Watch Video Solution

25. P and Q are isomer of dicraboxylic acid  Both decolourixe 

. On heating , P forms the cyclic anhydride. Upon treatment

with duilute alkaline . P as well a Q could produce one or more

than one from S,T and U. 

C4H4O4

Br2 /H2O

KMnO4

https://dl.doubtnut.com/l/_xaW46vYzCDEV
https://dl.doubtnut.com/l/_aYuJ4skp5Rcd


 


Compounds formed P and Q are, respectively

A. Optically active S and optically active pair (T.U)

B. Optically inacthive S and optically inactive pair (T.U)

C. Opticaly active pair (Y.U) and optically active S

D. Optically inactive pair (T.U) and optically inactives S

Answer: B

Watch Video Solution

26. P and Q are isomer of dicraboxylic acid  Both decolourixe 

. On heating , P forms the cyclic anhydride. Upon treatment

with duilute alkaline . P as well a Q could produce one or more

than one from S,T and U. 

C4H4O4

Br2 /H2O

KMnO4

https://dl.doubtnut.com/l/_aYuJ4skp5Rcd
https://dl.doubtnut.com/l/_CBBp8rNCMBV1


 


In the following reaction sequences V and W are respectively 

 

A. 

B. 

C. 

D. 

Q
H2 /Ni

−−−→
Δ

V

https://dl.doubtnut.com/l/_CBBp8rNCMBV1


Answer: A

Watch Video Solution

27.  is converted into  by means of Hofmann bromamide

degradation. 

 


In this  is formed form which this reaction has derived its

name. Electron-donating group at phenyl activities the reaction. Hofmann

degradation reaction is an intramolecular reaction. 

Hoe can the conversation of  be brought about ?

RCONH2 RNH2

RCONHBr

(i) → (ii)

https://dl.doubtnut.com/l/_CBBp8rNCMBV1
https://dl.doubtnut.com/l/_3kDHFf1u5oG8


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KBr

KBr + CH3Ona

KBr + KOH

Br2 + KOH

28.  is converted into  by means of Hofmann bromamide

degradation. 

RCONH2 RNH2

https://dl.doubtnut.com/l/_3kDHFf1u5oG8
https://dl.doubtnut.com/l/_MZJgwbAzFAnp


 


In this  is formed form which this reaction has derived its

name. Electron-donating group at phenyl activities the reaction. Hofmann

degradation reaction is an intramolecular reaction. 

Which is the rate-determining step in Hofmann bromamide degradation ?

A. Formation of (I)

B. Formation (II)

C. Formation of (III)

D. Formation of (Iv)

Answer: D

RCONHBr

https://dl.doubtnut.com/l/_MZJgwbAzFAnp


Watch Video Solution

29.  is converted into  by means of Hofmann bromamide

degradation. 

 


In this  is formed form which this reaction has derived its

name. Electron-donating group at phenyl activities the reaction. Hofmann

degradation reaction is an intramolecular reaction. 

What are the constituent amines formed when the mixture of  and 

undergoes Hofmann bromamide degradation ? 

RCONH2 RNH2

RCONHBr

(1) (2)

https://dl.doubtnut.com/l/_MZJgwbAzFAnp
https://dl.doubtnut.com/l/_JvqPZ6LCPW54


(1)  


(2) .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

30. Formic acid when heated with  produces …….. .

Watch Video Solution

conc. H2SO4

https://dl.doubtnut.com/l/_JvqPZ6LCPW54
https://dl.doubtnut.com/l/_KBoEniOkHGII


31. The boiling point of propionic acid is more than that of n-butyl

alcohol, an alcohol of comparable molecular weight.

Watch Video Solution

32. Hydrolysis of an ester in the presence of a dilute acid is known as

Watch Video Solution

33. The total number of carboxylic acid groups in te product P is: 

Watch Video Solution

https://dl.doubtnut.com/l/_KBoEniOkHGII
https://dl.doubtnut.com/l/_knGfvgbYJrKH
https://dl.doubtnut.com/l/_j2BkqsdsUr2p
https://dl.doubtnut.com/l/_yR8MvC7w5Ozy
https://dl.doubtnut.com/l/_exGHhZBjPplV


34. Compound A of molecular formula  exists is keto form and

predominantly in enolic form B. On oxidation with  A give m-

chlorobenzoic acid. Identify A and B

Watch Video Solution

C9H7O2Cl

KMnO4,

35. Identify  in the following synthetic scheme and write their

structures. Explain the formation of labelled formaldehyde  as

one of the products when compound  is treated with  and

subsequently ozonolysed. Take  as carbon in the entire scheme. 


 


.

Watch Video Solution

Z + Y

(H2C
∗O)

(Z) HBr

C ∗

BaC ∗O3 + H2SO4 → X(C ∗ = C 14)

https://dl.doubtnut.com/l/_exGHhZBjPplV
https://dl.doubtnut.com/l/_VoO2kvx79ZwU


36. Write the structures of products  and  

.

Watch Video Solution

(A) (B)

CH3 −

O

∣ ∣

C −
18

OC2H5

H3O
+

−−−→ (A) + (B)

37. The products  and  of the reaction 

 .

Watch Video Solution

(A) (B)

CH3CH2NH2

(CH3CO ) 2O

−−−−−−−→
heat

38. An ester , on treatement with excess of methyl

magnesium bormide followed by acidification, gives an alcohol  as the

sole organic product. Alcohol  on oxidation with  followed by

acidification gives acetice acid. Deduce the structures of  and . Show

the reactions involved.

Watch Video Solution

A(C4H8O2)

B

B NaOCl

A B

https://dl.doubtnut.com/l/_JTaSSyAOe6bv
https://dl.doubtnut.com/l/_EIMCSsLSaxoH
https://dl.doubtnut.com/l/_QdJ5ByTtoYxK
https://dl.doubtnut.com/l/_1VyR7Phv2RGD


39. A hydrocarbon  of the molecular formula . On ozonolysis gives

only the compound . The compound  can also be obtained

from the alkyl bromide  upon treatment with  in dry

ether followed by the addition of  and acidification. Identify 

and  and also give equations for the reactions.

Watch Video Solution

A C8H10

B(C4H6O2) B

C(C3H5Br) Mg

CO2 A, B

C

40. Complete the following sequence of reactions with appropriate

structures. 

 


.

Watch Video Solution

CH3 − CH2 − COOH
P and
−−−−→
Bromide

(A)

(A)
( i )Alc .KOH ( excess )
−−−−−−−−−−−−−→

( ii )H ⊕
(B)

41. Which of the following carboxylic acids undergoes decarboxylation

easily ? Explain briefly. 

(i)  
C6H5 − CO − CH2 − COOH

https://dl.doubtnut.com/l/_1VyR7Phv2RGD
https://dl.doubtnut.com/l/_SI3W0Eju99K1
https://dl.doubtnut.com/l/_SR3TDAyko9xY


(ii)  


iii.  (iv) .

A. 

B. 

C. 

D. 

Answer: N//A

Watch Video Solution

C6H5 − CO − COOH

C6H5 − CH
∣

OH

− COOH C6H5 − CH
∣

NH2

− COOH

C6H5COCH2COOH

C6H5COCOOH

C6H5CH(OH)COOH

C6H5CH(OH)COOH

42. Predict the major product in the following reaction : 

Watch Video Solution

C6H5 − CH2COCH3

( i )CH3MgBr ( excess )
−−−−−−−−−−−−−→

( ii )H +

https://dl.doubtnut.com/l/_SR3TDAyko9xY
https://dl.doubtnut.com/l/_XZsq0Qr3Z5Db


43. In the following reactions. Identify the compounds A, b, c and D 

 


 


Watch Video Solution

PCI5 + SO2 → A + B

A + CH3COOH → C + SO2 + HCI

2C + (CH3)2Cd → 2D + CdCl2

44. Complete the following sequence of the reactions with approprite

structures. 

(i) 

Watch Video Solution

45. In the following identify the compounds/reaction conditions

represented by the alphabets , and  : 
(A), (B) (C)

https://dl.doubtnut.com/l/_mQe4IxkDNW85
https://dl.doubtnut.com/l/_vVsKWhXBdf6T
https://dl.doubtnut.com/l/_R8pnbw6sqOUZ


.

Watch Video Solution

C6H5COOH
PCl5
−−→ (A)

NH3

−−→ (B)
P2O5

−−→ C6H5CN
H2 /Ni

−−−→ (C)

46. Arrange the following as stated : 

'Increasing order of acidic strength'. 

.

Watch Video Solution

ClCH2COOH, CH3CH2COOH, ClCH2CH2COOH, (CH3)2CHCOOH,

47. How will you bring about the following conversion ? 

'Ethanoic acid to a mixture of methanoic acid and diphenyl ketone'.

Watch Video Solution

48. Give reasons for the following : 

'Carbon-oxygen bond lengths in formic acid aer  and  and1.23Å 1.36Å

https://dl.doubtnut.com/l/_R8pnbw6sqOUZ
https://dl.doubtnut.com/l/_aqnkhOnMTtyT
https://dl.doubtnut.com/l/_2s9UAoqruDwH
https://dl.doubtnut.com/l/_cJ0TcNUAvuTr


both carbon-oxygen bonds in sodium formate have the same value, i.e.,

.

Watch Video Solution

1.27Å

49. Write the balanced equations for the following reaction : 

'Acetamide is reacted with bromine in the presence of potassium

hydroxide'.

Watch Video Solution

50. A liquid  having a molecular formula  is hydrolysed with

water in the presence of an acid to give a carboxylic acid  and an

alcohol . Oxidation of  with chrome acid gives  . What are the

structures of , and  ?

Watch Video Solution

(X) C6H12O2

(Y )

(Z) (Z) (Y )

(X), (Y ) (Z)

https://dl.doubtnut.com/l/_cJ0TcNUAvuTr
https://dl.doubtnut.com/l/_zCsqWrtwEFpP
https://dl.doubtnut.com/l/_48eKZlOC9tTT


51. Complete the following with appropriate structures : 

.

Watch Video Solution

(CH3CO)2O
C2H4OH
−−−−→ CH3COOH + ?

52. Arrange the following in order of their increasing ease of hydrolysis : 

.

Watch Video Solution

CH3COOC2H5, CH3COCl, (CH3CO)2O, CH3CONH2

53. Give reason in one or two sentences for the following : 'Formic acid is

a stronger acid than acetic acid'.

Watch Video Solution

54. Write down the reactions involved in the preparation of the following

using the reagents indicated against in parenthesis. 

https://dl.doubtnut.com/l/_W2bDo9w1TWoo
https://dl.doubtnut.com/l/_UgDUS5TwjCpY
https://dl.doubtnut.com/l/_CJVci7kzjpwr
https://dl.doubtnut.com/l/_o6IQxYoXxnE9


'Propionic anhydride from propionaldehyde'. 

.

Watch Video Solution

[AgNO3, NH4OH, P2O5]

55. Give reasons for the following in one or two sentences. 

'Acetic acid can be halogenated in the presence of  and , but formic

acid cannot be halogenated in the same way'.

Watch Video Solution

P Cl2

56. State with balanced equation what happens when 'Acetic anhydride

reacts with phenol in the presence of a base'.

Watch Video Solution

57. Write the structural formula of the main organic product formed

when ethyl acetate is treated with double the molar quantity of

https://dl.doubtnut.com/l/_o6IQxYoXxnE9
https://dl.doubtnut.com/l/_fWZnVsbAs693
https://dl.doubtnut.com/l/_QWY7ufVfrDdy
https://dl.doubtnut.com/l/_3ixukQT0xAhO


 and the reaction mixture is poured into .

Watch Video Solution

MeMgBr H2O

58. Write the chemical eqution to show what happens when 'Ethyl acetate

is treated with sodium ethoxide in ethanol and the reaction mixture is

acidified'.

Watch Video Solution

59. Fischer esterification of phenylacetic acid with 1- propanol gave a

mixture of  of the ester, propyl phenylacetate, contaminated with 

 unreacted acid. Which of the following treatments would be best

used to purify the ester?

A. Reduce the unwanted acid with  in ether

B. Wash an ether solution of the crude product with concentrated

brine (aq.NaCl)

93 %

7 %

LiAlH4

https://dl.doubtnut.com/l/_3ixukQT0xAhO
https://dl.doubtnut.com/l/_GwIa4VmcFWQB
https://dl.doubtnut.com/l/_ACIQViX1R8qB


C. Wash an ether solution of the crude product with  aqueous

sulphuric acid

D. Wash an ether solution of the crude product with  aqueous

sodium acrbonate

Answer: A

Watch Video Solution

5 %

5 %

60. The  bond in acetamide is 0.1 A shorter than the 

bond in ethylamine. Way?

A.  repulsion in ethylamine

B. Hyperconjugation in ethylamine

C. Dipole interactions in acetamide

D.  resonance in acetamide

Answer: D

C − NH2 C − NH2

N :H

pπ

https://dl.doubtnut.com/l/_ACIQViX1R8qB
https://dl.doubtnut.com/l/_dw1tnitCWzQT


Watch Video Solution

61. Which of the following reaction will produce isopropyl acetate in the

best tield?

A. Acetylchloride 

B. Silver acetate 

C. Acetic acid 

D. 3-methylbutanone 

Answer: A

Watch Video Solution

+2 − propanol →

+2 − chloropropane →

+2 − propanol /H2SO4 →

+C6H5CO3H ↔

62. An organic acid (X) has molecular formula  X on heating

with  forms Y which on treatrmentr with alkaline  from Z.Z on

treatament with  followed by with  gives 2,4- dimethyl l-2

C8H16O2 .

NH3 Br2

HNO2 H2SO4

https://dl.doubtnut.com/l/_dw1tnitCWzQT
https://dl.doubtnut.com/l/_Fzr6gKZWL96q
https://dl.doubtnut.com/l/_dFAlQ81WJMmd


Topic Ii Objective Quastion

pentene. How many different acids (X) can give the indicated final

product?

Watch Video Solution

63. In the following Cross-Clasisen condensation reaction, how many

different  esters would be formed? 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

β − ke →

CH3CH2COOC2H5 + CH3COOC2H5

C2H5ONa
−−−−−→

heat

4

2

3

1

https://dl.doubtnut.com/l/_dFAlQ81WJMmd
https://dl.doubtnut.com/l/_EsCcpol58Dbc


Subjective Questions

1. Identify the binary mixture (s) that can be spearated into individual

compounds, by differential extraction, as shown in the given scheme. 

A. 

B. 

C. 

D. 

Answer: B::D

View Text Solution

C3H5OHandC6H5COOH

C6H5COOHandc6H5CH2OH

C6H5CH2OHandC6H5OH

C6H5CH5OHandC6H5CH2COOH

https://dl.doubtnut.com/l/_dItrEC4EKiNG


1. Find the final product A,B,C and D of the reaction 

View Text Solution

2.  2-Phenylpropanoic acin on treatment with (+) 2-butanol gives (A)

and (B). Deduce their structures and also establish stereochemical

relation between them.

View Text Solution

( ± )

3. Explain briefly the formation of the products giving the structures of

the intermediates 

https://dl.doubtnut.com/l/_dApPfN9Yjavi
https://dl.doubtnut.com/l/_BGut88YPXdVi
https://dl.doubtnut.com/l/_hMaC1ryfbLxT


View Text Solution

4. Complete the following. Giving the structures of the principle organic

product  


 


 


View Text Solution

+(COOEt)2 + EtONa → A

(COOH)2 + (CH2OH)2

conc .H2SO4
−−−−−−→ → B

H3COCOC6H5 + NaOH
H3O

+

−−−→ C

https://dl.doubtnut.com/l/_hMaC1ryfbLxT
https://dl.doubtnut.com/l/_dnC9Zz0nKLkL


Chapter Test

1. Ethyl acaetate undragoes the followinfg sequence of reactions 

treatment with excess phenylmagnesium bromide in ether 

heating with cono.  


treatment  in ether, followed by alkaline  


treatment with jones' regent 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

H3PO4

B2H6 H2O2

(CrO3in aqueous acid + acetone)

https://dl.doubtnut.com/l/_L1XcGKxSScYx


2. A carboxylic acid X is treated with bromine(1 mole) in the presence of a

little phosphouus. The isolated product is heated with a strong base and

then oxidized with  one of the two oxidation products is

a netural compound which reacts with hydroxylamine to give an oxime, X

can be

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

O3 /Zn − H2O.

CH3CH2CH(CH3)CH2CO2H

CH3CH2CH(CH3)CO2H

CH3CH2CO2H

(CH3)CHCH2CO2H

3. Match the reaction from Column l with the expected products from

column II : 

https://dl.doubtnut.com/l/_L1XcGKxSScYx
https://dl.doubtnut.com/l/_1LtiDQM3EVQz
https://dl.doubtnut.com/l/_lapBJSVoltMJ


View Text Solution

https://dl.doubtnut.com/l/_lapBJSVoltMJ

